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INSTRUCTIONS TO CANDIDATES

This question paper has 50 questions. Each question carries one mark. There are four choices for answer
(A, B, C, D) to each question. Choose the correct answer (one only) for each question and write the
answer in the space provided against each question.

Candidate must write Name, Roll No. and sign on each page of this booklet.

The candidate should check that the booklet does not have any unprinted or torn or missing pages or
questions etc. If so, get it replaced with another question paper, before question paper starts.

One (1) mark will be awarded for each correct answer. There will be negative marking and (- ) mark
will be awarded for each incorrect answer.

The unanswered questions will not attract negative marking

Return the Question Paper cum Answer Sheet to the invigilator after the examination is over.

Mobile, Electronic Watch and other Electronic Gadgets are prohibited in the examination.

There should not be any cutting or overwriting in the Answer.

Use of Unfair Means in Examination will lead to cancellation of candidature.

anafer ¥ forg sree

=0 U9 U F 50 U9 . UIE U U 34 Bl £ U YT b IR & foig IR fased (A, B, C, D) ¥l UdH
T 3 Tl HEl IR (el Th) T 3R T U9 % A 13T T I W I g

el BT 27 YfEeT & Ui I8 U STTHT AT, et FaR fererT 21T deiT S&dTaR ST & |

anreft o I ST TR e Rt § BIE it AT SUT ge a1 e g3 A1 A U8 A1 W AR TE 8 AR
T &, A T U I[6 B § Ut 39 g8 U U § 98 o |

eI el I T U (1) 37 F&T STTQTT | ThRIHe 3ieb 21T 31 Welidh TTetd It & folC (- 14) 37eh fea
ST

SRNA T3 TR 3 Bl SATH Tl BT

& FHTE B 3 1S U9 U5 T IR Y& Tdetd Bl @il 3|

HeTEe, ST HEl 3R 31 Saagid Toig qiiaf § afefd 2.

IR H BIE B AT ST 7 BHT =M(EU.

oiter § e QreFT B wET S W IHIGIN T B El S

Page 1 of 11



Q.No.

Question

Ans

The average weight of a group of 5 boys is 26. If we replace a boy of weight 25 in the group
with another boy so that new average increases by 3, find the weight of the new body.

5 TSPl & T TYE BT AT a9 26 2| IS &7 T H 25 T a1t T wTgeh Bl G b &

vfdeenfud &td €, 7598 737 39 3 9 93 ST 2, 97 7 SIS TT IR &1 g I11d B |
. 56
.34
. 40

a1
s DD

oOw>

Two partners invest Rs.125000 and Rs. 85000 respectively in a business and agree that 60%
of the profit should be divided equally between them and the remaining profit is to be treated
as interest on capital. One partner gets 300 more than the other. Find the total profit made in
the business.

21 TTEIRR T THT § HHET: 125000 B0 3R 85000 B0 AT 9d & 3R Hend &id & fb @
BT 60% I7b dTe GHH B9 F fanrior fesam ST =1fEe 3R 919 & &1 goil R AT & 9§ 7T
SITQT| Teb HTSIER BT g & 300 371 et &1 raemr # et I J1d hifeTg|

A. 3739.50

B. 3749.50

C. 2375.60
D. 3937.50

W

A can fill a tank in 8 hours, B can fill the same in 12 hours, and C can fill the tank in 24 hours.

If they are open at 2 am, 3 am, and 4am respectively, then at what time the tank will be
completely fill?

A TF 3F Pl 8 T2 § W Gobal 2, B IHT 6 BT 12 6 § WX TohdT €, 3R C 3T H Bl 24 HEH W

TehaT 2| AR Y AT 2 I, 3 T 3N 4 T G 2, A1 g T e Gt otg & W ATgT?
A. 5:00 am
B. 6:00 am
C. 6:40 am
D. 7:20 am

Vipul's present age is two-fifths of the age of his mother. After 8 years, Vipul will be one-half
of the age of his mother. What is the present age of Vipul's mother?

I BT AdHT 3T SHHI HT I 31 BT 2/5a1 W 21 8 T aTe, Tt B 31y I8! Al b1 g 1
el €| et <Y AT Y I 3G T 22

A. 60 Years

B. 50 Years

C. 40 Years
D. 30 Years

It was Saturday on January 1, 2005. Find the day of the week on January 1, 2010.
A. Tuesday

B. Friday

C. Wednesday

D. Sunday

| TG 2005 BT IEHAR AT1 1 ST 2010 BT HATE B 7 T HIfeg|
A. HTAR
B. YJsaR

C. gIaR
D. {fd@ar
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A man swims 12 km downstream and 10 km upstream. If he takes 2 hours each time, whatis | B
the speed of the stream?
A. 1 km/hr

B. 0.5 km/hr

C. 1.5 km/hr

D. 0.7 km/hr

e ATGHT ¥R & 3T % 12 Tt 3R wrr 3 wfdeset 10 frT a1 af S8 s aR 2 5 &
&, A1 R Y T T 82

A. 1 foHi/EeT

B. 0.5 fowi/erer

C. 1.5 fopHi/dEer

D. 0.7 foHi/ger

How many times the hands of a clock coincide in a day? B

T T H T2t &1 g foat IR e 82

A. 24 B. 22 C.23 D. 21

A ladder is leaning against a wall. It makes a 60° angle with the wall. If the distance between | D
foot of ladder and wall is 5.5 meters, find the length of the ladder.
A.9.5m

B. 10m

C.10.5m

D.11m

T HIGH SIaR & TER bl g8 &1 & AR & |1 60° BT HI0T GATT 21 I T & R 7R <ar &
& BT gl 5.5 HieX 2, dl Hiel Bl warg A1 brieiy|

A.9.5 HIX

B. 10 HI&X

C. 10.5 HIX

D. 11 §IX

On increasing the price of tickets for a show by 20 % the audience decreases by 30%. What is B
the effect on revenue?
A. 16% increase

B. 16% decrease

C. 4% increase

D. 4% decrease

famet Tt & fease BT B | 20% BT g FE W Z2iH! B T H 30% P FHI 3T 2| T T
T ITT TS 82

A. 16% B dfg

B. 16% I HHI

C. 4% B dfg

D. 4% %1 HH
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10

By selling a property for Rs 45000 a person incurs a loss of 10%. Find the selling price to gain
the profit of 15 %?

T GUd Bl 45000 YA | S G UH Afdrd DI 10% DY BT BIdT 81 15% BT A W B &

o fasra qer Fa Fiferg?
A. 55000
B. 60000
C. 57500
D. 58000

A bottle of whisky contains 40% alcohol. If we replace a part of this whisky by another
whisky containing 20% alcohol, the percentage of alcohol becomes 28%. What quantity of
whisky is replaced?

TR Y T Tt H 40% Fehled | T2 T 37 fewhl P T WITT Bl 20% Schlect dTeil GHT

bl § 92 2, a1 STebled BT UTaid 28% &1 STdT 8| fewht Y a1 w13 st T8 82
A. 3/5
B. 3/4
C. 4/5
D. 2/5

12

Statement 1. Tom studies in standard five.

Statement 1. Tom failed in standard five.

A. Statement 11 is the cause, and statement I is its effect
B. Statement | is the cause, and statement II is its effect
C. Both the statements are effects of independent causes
D. Both the statements are independent causes

Frugal: Parsimonious :: ?

A. Poor: Misery

B. Love: Hate

C. Rich: Poor

D. Pleasure: Ecstasy

14

Peter is facing north. He turns to his right and walks 20 m and then turns to his left and walks
25 m. He then walks 25 m to his right. Next, he walks 50 m to his right. Finally, he turns to his
right and walks 30 m. In which direction is he from the starting point?

A. South-East

B. South

C. South-West

D. West

et IR BT 3R HE e WSl 2| T 3TUH ¢ HedT & 31K 20 FieX Tear & 3R O 370 a1¢ 431 2
3R 25 Hie =TT 2| O T 319 2T gaT § 3R 25 Hie IctT 21 6 918, I8 A0 ¢ el @
3R 50 HieX TreTaT 21 37 H, T 379 T ST & 3R 30 Hi AT 81 Te gesTa! feig # fopw fom
&

A. feror.gd B. Zferor C. Zfeor-ufgm D. ufgH
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15

In a party, both chicken and fish were served. Some ate only fish and some only chicken.
Some people were vegetarians who did not eat either. The rest of the people ate both chicken
and fish. Which of the following Venn-diagrams correctly represent this situation?

T Uit # e 3R Heelt A WA TY O i A i Ted @ 6k $B 7 Ak et 75
ST ot & R AT § @ 35 ot 7E @ awer @t 3 e SR Awe JHT @l
frfefEd & & S w1 3-8 el & gel ¢ & gwiar 82

~T N
D

7 B

@ 0
) Co

16

In a certain code 'WRITER' is written as 'SFUJSX'. How is 'DOCTOR' written in that code?

e Ffd B ¥ 'WRITER' &1 'SFUISX' fer@r sirar 21 38 #1g § 'DOCTOR' &1 &4 et

STTET?

A. SUPPDE
B. SPPUDE
C. SPUDPE
D. SPUPDE

17

Statement: Ram's investment in the shares of a company is only a gamble.

Assumptions: I. Ram may incur the loss on his investment.
I1. Ram may gain from his investment.

A. Only I is implicit

B. Only II is implicit

C. Either I or Il is implicit
D. Neither I nor Il is implicit

Find the wrong number in the series, 2, 6, 15, 31, 56, 93.
ST H TeTd H&AT A HINT, 2, 6, 15, 31, 56, 93.

.93
.15
. 31

. 56

oOw>
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19

Which answer figure will continue the series established by the problem figures?

Problem figures: (FH&ET mgifﬁ'iﬁ):

U

Answer figures: (ST 311?5%&1?[):

D

oow>
E-NLVS I O

20

Statements:

I. Some roads are highways

I1. Some highways are waterways
[1I. Some waterways are airways
Conclusions:

[. Some airways are roads

II. Some waterways are roads
III. Some airways are highways
IV. Some roads are airways

A. Only I follows

B. Either I or II or I1I follows

C. Only II follows

D. None follows

21

Spot the error in following sentence:

Frefeifee T & 3R @

I haven't been (1) to Mumbai before and (2) neither my sister. (3) No error (4)

A.
B.
C.
D.

NV o

22

Choose antonym of the given word: Articulate

e T4 91z %1 faeiv 9162 TA: Articulate

A. Fluent
B. Eloquent
C. Hesitant
D. Volatile
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Choose synonym of the given word: Remonstrate
Q7T 9162 T GHMATLT 9162 ﬂ'}l Remonstrate

A. Display
B. Protest
C. Retaliate
D. Convince

24

The release of the book was planned to with the writer's fiftieth birthday.

A. harmonize
B. fall with

C. coincide

D. Synchronize

25

Find the correctly spelled word from below options:
e few T fompedt & & |E1 ad-1 a1l 91 gH:

A. Reeceding
B. Receeding
C. Receding
D. Recceding

26

“Occurring at night” means:

A. neurotic

B. knight rider
C. nocturnal
D. fortnight

27

“A black sheep” means:

A. one who takes no share in the profit

B. an ugly person

C. an unlucky person

D. someone who is a disgrace to the rest of the group

28

Change the voice of the sentence: The boy should not have hit the puppy.
qTeRT T aTed 98et: The boy should not have hit the puppy.

A. The puppy has not been hit by the boy.

B. The puppy should not be hit by the boy.

C. Hitting the puppy should not be done by the boy.
D. The puppy should not have been hit by the boy.

29

Change the speech of the sentence :
ITRT BT {1 T3 -
The watchman said to the thief, "If you jump the wall, I will call the police.”

A. The watchman warned the thief that he would call the police if he jumped the wall.

B. The watchman informed the thief that he would call the police if he jumped the wall.

C. The watchman told the thief that he would call the police if he jumped the wall.
D. The watchman advised the thief that if he jumped the wall he would call the police.

What are you doing for Christmas?

A. a

B. an

C. the

D. no articles
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Which one of the following groups contains graphical file extensions?

fefefad & § food we & aifthese e TaaesH omHe 82

A. JPG, CPX, GCM
B. GIF, TCE, WMF
C. TCP, JPG, BMP
D. JPG, GIF, BMP

The use of the IC in a computer has

A. Increased the amount of heating

B. Reduced the size and cost of computers

C. Reduced the peripheral devices to be used

D. Reduced the performance capacity of the computer

FERFICHITAMTH BTl

A. BT H AET § 9fg 58

B. FR & ATHR 3R AT H FHI 3718

C. U fopT ST aret uftedi Suastot H Y 3
D. F BT UL &1 § HHI 3MTE

(95}
(93]

What is the full form of SCSI?
SCSI T I ATH T 82

A. Standard computer systems interface
B. Small computer systems interface
C. Super computer systems interface
D. Small computer standard interface

What is a single dot on a computer screen called?

HGX BhH R TH feig $I T e 82

A. Desktop
B. Color dot
C. Pixel

D. Screen dot

Which of the following shortcut key shows the properties of a file?

Frefeifed & & S d 1o ol fpel whraet & 1T feamt 27

A. Alt + Ctrl
B. Alt+P

C. Alt+F3
D. Alt + Enter

Which of the following commands cannot be used to work on a file?

Fefefad § @ o 91 FHie fhd) Bred W H™ B & [T IuaT T&i fHar <1 qadr 22

A. Ctrl+Z
B. Ctrl +Y
C. Ctrl +1
D. None of the these

The intersection of a column and a row in an MS Excel worksheet is called
MS Excel T3 § T BieTq 3R U Ufed Ul Bl FETAET R

A. Column

B. Address

C. Value
D. Cell
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Which feature would you use to capture and analyze data from multiple sheets into one sheet
in MS Excel?

MS Excel ® TsTfe® Ii1el & 327 %1 Ueb IMe § SwR 3R favafsa & & forg 3 foq gl &
I BAT?

A. PivotTable

B. Data Form

C. Consolidate
D. Template

Which key combination is used to insert a new worksheet in MS Excel?

MS Excel? # 7€ adseiie eTer & g fope ooft Taiiet &1 IuanT fomar Sirar 22

A. Ctrl+ N

B. Ctrl + T

C. Ctrl + Shift + N
D. Shift + F11

40

What symbol is used to start a formula in Excel?

Excel & BT 36 B & foTg e wiefes a1 Suai foar Sirar 22

COow>
+

41

Which of the following Himalayan regions is called "Shivalik's"?
A. Upper Himalayas

B. Lower Himalayas

C. Outer Himalayas

D. Inner Himalayas

Fmfafaa & @ feg femrerl & @i feraTfes” war ST 22
A. S0 T&dTe

B. T fearea

C. sTed e

D. 3TaRe fEarea

42

The driving force of an ecosystem is
A. Carbon Mono oxide

B. Biogas

C. Solar Energy

D. Carbon dioxide

TifeifaehT o I IR vifer B
A. BTET HHT 1TSS

B. 1A

C. GR35

D. FIE STSIATFITES
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Which of the given is a disease caused by protozoa?
A. Cancer

B. Typhoid

C. Kala-azar

D. Chicken Pox

FefefEd & @ S I1 I WSSISTT B HROT &7 22
A. TR

B. 2Ig®igs

C. BAWR

D. fere uieq

44

The tropic of cancer does pass through which state of India?
A. Uttar Pradesh

B. Madhya Pradesh

C. Bihar

D. Andhra Pradesh

T 1T VIR & b T3 F et Torl 22
A. FT U

B. &I Ue¥T

C. ferr

D. 37T WS

45

Where was the “Ayush Medical Value Travel Summit 2024 inaugurated?
A. Mumbai

B. Chennai

C. New Delhi

D. Hyderabad

TR Bifedhet deg 3ae AHe 2024” BT IGTA Fel 6T T
A. HuS

B. 918

C. 78 it

D. 2R

46

Name of the only women's regiment of the Indian National Army (INA)-
A. Rani Laxmibai Regiment
B. Rashtriya Mahila Morcha
C. Rani Jhansi Regiment
D. Rani Chenamma Regiment

R TEF TAT (INA) T THAT AT ISTHE T ATH T 82

A. T wTedteTs e
B. T Afgar Hiaf
C. Tt gt e
D. THT T SHe
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47

Which sector is the largest employer in India?
A. Agriculture

B. Manufacturing

C. Services

D. Mining

R ¥ ged go1 e a1 97 89 82

A B
B. fafywfior
C. ¥y

D. @

48

Flamingo Festival is celebrated in which of the following Indian States?
A. Gujarat

B. Andhra Pradesh

C. Bihar

D. West Bengal

T BfRge FefafEd & 9 feg Trdig =1 § 5913 ST 22

A. ToRId

B. 31T U9
C. foer

D. Ufg §met

49

Which of the following appointments is not made by the president of India?
A. Chief Justice of India

B. Governor of states

C. Chief of the Army

D. Speaker of the Lok Sabha

fafafEa & @ o5 o Fryfe e % wgufa g 78 & A 22
A. VIR & Y& R

B. T\ & TFUTA

C. AT vyqE

D. @lsaT 3t e

50

What is the maximum strength for Lok Sabha?

b T I 31feiepan G geT fobdT 22
552
500
250
272

cow>
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